Market Leader (Intermediate) 3rd Edition, Course Book
To-do list (список завдань):

1. [bookmark: _Hlk121137689]P. 1      ex. A, B 
2. P. 2      ex. A, B, C
3. P. 3     ex.  D, E, A 
4. [bookmark: _Hlk121137736]P. 4     ex.  C
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Complete the text wit!
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may not even know who the CEO s, or wha egs

tn i¥| to achieve. In order to try to solve this problem, manv.orgamsmwons have adopted

i ¢ more flexible business culture in which frequent contact between

o 7 is flowing smoothly.

aless. ..o
the owner and the employees ensures that........o-

A second difficult choice for a company concerns the ex!fzn ;
..® Global operations allow Maximum ............----: of scale,
2 quickly and to reach all market

t to which it should go global

or remain ...

while localisation makes it possible to....
10 order to reduce the tension between global and local demands,

many companies have adopted a ‘hub and spoke’ structure. They use several regional
production and.. 2 ¢y ubs’ where neighbouring markets are serviced from

one single location.

1 a) adopt b) market c) adapt d) research
2 a) economical b) hierarchical c) welcoming d) democratic
3 a) webs b) media ©) roads d) channels
4 a) customers b) directors. o) staff d) buyers

5 a) goals b) design o) plan d) sales

6 a) bureaucratic b) caring ©) decentralised d) market-driven
7 a) information b) news ©) speech d) interest

8 a) professional  b) stafic o local d) impersonal
9 a) production b) economies ©) marketing d) savings
10 a) call b) demand ©) enquire d) respond
11 a) shares b) research ) leaders d) s 'ior

12 a) manufacturing  b) selection ©) distribution d) aZiert?sing

Complete the phrases 1-6 with a verb from the box.
[ carry out dravrtp issue

: maintain_train transport
- contracts
2
............ goods and equipment
] systems
T PSS releases, P 1
SR, +..Tesearch 4

- staff
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1 ahotel with four stars

N Change the following phrases, as in the example.
 afaur-ster hotel P 2
L]

2 adeal worth eighty thousand euros i e s

& v s ow

ajourney that lasts seven hours

aloan of two million pounds

aseminar that lasts three days

an office block that has sixty storeys .............

Match a word from box A with a word from box B to complete the

sentences below.

A B
computer commercials
government fair
information force
labour policy
research project
trade technology
v virus
1 This new.Computer  Virus. could wipe all the data off your hard disk.
2 Several organisations are strongly opposed to the use of children in advertising in
general, and in in particular.
3 Going to an international is often an excellent opportunity for
networking.
4 Advancesin............ ... have revolutionised the way people communicate
and do business.
5 GVCSteelworksalready have a........ 0f1,500, and they are still
recruiting.
6 The government should commission a special to assess the
risks posed by GM foods.
7 Itwould be bad... to revalue our currency at this particular time.

Match the nouns 1-6 with the nouns a-f to make new compounds.

1 sales a) officer
2 savings b) car

3 customs ©) assistant
4 needs d) costs

5 sports €) analysis
6 labour f) account
Tip

In some expressions, the plural -5 is kept on the first noun. However, the first noun is
usually singular, even when the meaning is plural. For example, a car manufacturer, a

shoe shop.
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P - 3 p to make new noun combinations.

 word for each grou
Y U the sam: i, o

1 world..frade deficit
m. guru project m.
2 crisis M.
30 hours heado... 6o IO
o travella ie.cois policy sy

4 lifei....

5 p range consumer p....-..-:- il ~launch

G o agency T — a e
@ Complete the sentences with words from the box.

e e e ol con

1 The...Jevel.. of unemployment will soon reach 15%.

of contract.

2 They accused the stiking workers of beingin ..

BT conins ot interestbetween her business dealings and her

position as a politician.

4 Wiiting letters by hand is a complete...........of time. | always type them on the

computer.

5 Experts forecast that the........... of living will decrease slightly next year.

6 We have pleasure in including further information about our ........ .. of products.

7 Weare starting anew............. of negotiations with GVC Steelworks next month.

8 The seminar on ‘Motivation at Work’ was cancelled through .. ....of interest.
Tip

Many constructions noun + of + noun are relatively fixed. For example:
o waste of money, lack of interest, show of strength.
We cannot say money-weste, interest-ack or strength-show, for example.

I  Alarge travel agency called Free Horizons has recently been reorganised
and the new manager, Olivia Anderson, is very keen on staff training.
Complete her e-mail with the words from the box.

[ remain announce contribute _explain organise seleCl
To: All staf i
From: 0. Anderson |
Subject: Staff training

In order to keep our competitive edge, we at Free Horizons must continue to
provide unique travel services and .. re: . totally customer-focused.

Our staff training programmes ...
and efficient,

-# a great deal to making us so dynamic

1am very pleasedto............3 that we wil be able to
seminar in the autumn, on one of the following topics:
+ developing computer skills,

* Intermediate French, Spanish, or Arabic,

* customer service,

4 another training

favourite destinations: geography and poliics,
Please..........5 one topic, and.
Replies by Thursday please.

E—

£ in detail the reasons for your choice:
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. Read the passage below about customer relationship management.

© |n most of the lines 1-10 there is one extra word which does not fit. Some lines,

however, are correct.
® |faline is correct, put a tick () in the space provided.

© |fthere is an extra word in the line, write that word in the space.

Many organisations talk about doing more business electronically, as implementing
cost-cutting measures and improving efficiency. Despite all this talk, some inspired
business leaders have understood what the key of any business connection is: people.
Customers do of course they expect quality products and fair prices, but this is not
the whole story. They also expect to deal with people who have been a positive
attitude, who are enthusiastic about the business if they are in, and who care for them.
Therefore, a growing number of companies have come to realise so that any
transaction can potentially mark the start of a lifelong and relationship. They are now
aware that a large part of the success of any company depends on the quality of

customer services and CRM, which is the short for ‘customer relationship management'.
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